

## **Free Early Education and Childcare Entitlement Hours**

	<b>38weeks</b>	<b>51weeks</b>
<b>15hours p/w</b>	15 hours	11.18 hours
<b>30hours p/w</b>	30 hours	22.35 hours

### **Term Time Option for families eligible for 30hours**

**Term time sessions are childcare sessions offered for 38 weeks of the year.**

Under the Government scheme parents/carers are entitled to an annual free early education and childcare entitlement of 30 hrs\* per week over 38 weeks per annum, which equates to 1140hrs per year.

The setting operates Monday-Friday, full-day sessions 07:30 to 18:30, offering 11hours of childcare per day.

Funded sessions are offered as 6 hours of childcare per day between 09:30 – 15:30.

This session is offered during term-time only (38 weeks per annum) and therefore offer the annual free early education and childcare entitlement of 30 hours per week over 38 weeks per annum.

The setting offers places for children from 3 months old until the child reaches statutory school age.

Working parents/carers who want to just take up their full free early education and childcare hours (30 hours per week\*) can do this and are able to take this up over 5 days (at 6 hrs per day between 9.30am - 3.30pm, subject to availability). Parents/carers do not have to take up additional childcare hours in order to access their full free early education and childcare hours\* but can request these should they want to.

Where parents/carers choose to purchase childcare hours which are in addition to/outside of their free early education and childcare hours\*, these will be charged for at an additional rate of £ 15.00 p/h funded days.

### **Term Time Option for families eligible for 15hours**

Under the Government scheme, parents/carers are entitled to an annual free early education and childcare entitlement of 15 hrs\* per week over 38 weeks per annum, which equates to 570hrs per year.

The setting operates Monday-Friday 07:30 to 18:30 offering 11hours of childcare per day.

The funded sessions are offered during term-time only (38 weeks per annum) as either an AM session or PM session:

- 3hrs per day between 9:30am – 12:30pm or
- 3hrs per day between 1:30pm – 4:30pm

Families who want to just take up their full free early education and childcare hours (15 hours per week\*) can do this and are able to take this up over 5 days (at 3 hrs per day between 9.30am – 12:30pm or 1:30pm – 4:30pm subject to availability). Parents/carers do not have to take up additional childcare hours in order to access their full free early education and childcare hours\* but can request these should they want to.

Where parents/carers choose to purchase childcare hours which are in addition to/outside of their free early education and childcare hours\*, these will be charged for at an additional rate of £ 15.00 p/h on the funded days.

#### **All Year-Round Option for families eligible for 30hours**

**All year round are childcare sessions offered for more than 38weeks of the year.**

Under the Government scheme, parents/carers are entitled to an annual free early education and childcare entitlement of 22.35 hrs\* per week over 51 weeks per annum, which equates to 1140 hours per year.

The setting operates Monday-Friday 7:30 - 18:30, offering sessions of 11 hours of childcare per day on a year-round basis.

The setting offers places to children from 3 months old until the child reaches statutory school age.

Working parents/carers who want to take up their free early education and childcare hours all year round with additional hours can do this, and are able to take this up as 22.35 hours per week over 3 full days of their choice (10 hours for the first 2 days and the extra 2.35 hours on the 3<sup>rd</sup> day with additional hours for a full 3<sup>rd</sup> day), alternative days will be offered where preferred days are not available (subject to availability).

Where parents/carers choose to purchase childcare hours which are in addition to/outside of their free early education and childcare hours\*, these will be charged as set out below:

#### **0-2 years**

Attendance Days	Total attendance hrs per week	Free childcare hours per week	Paid additional childcare hours per week	Charge per hr for the charged childcare	Total charge per week
1	11	11	0	£ 7.73	£0
2	22	22	0	£ 7.73	£0
3	33	22.35	10.65	£ 7.73	£ 82.33
4	44	22.35	21.65	£ 7.73	£ 167.35
5	55	22.35	32.65	£ 6.96	£ 227.24

## 2-5 years

Attendance Days	Total attendance hrs per week	Free childcare hours per week	Paid additional childcare hours week per	Charge per hr for charged childcare	Total charge per week
1	11	11	0	£ 7.18	£ 0
2	22	22	0	£ 7.18	£ 0
3	33	22.35	10.65	£ 7.18	£ 76.47
4	44	22.35	21.65	£ 7.18	£ 155.44
5	55	22.35	32.65	£ 6.47	£ 211.24

### All Year-Round Option for families eligible 15 hours

**All year round are childcare sessions offered for more than 38 weeks of the year.**

Under the Government scheme parents/carers are entitled to an annual free early education and childcare entitlement of 11.18 hrs\* per week over 51 weeks per annum, which equates to 570hrs per year.

The setting operates Monday-Friday 7:30 - 18:30, offering sessions of 11 hours of childcare per day on a year-round basis.

Families who want to take up their free early education and childcare hours all year round with additional hours can do this and are able to take this up as 11.18 hours per week subject to availability.

Where parents/carers choose to purchase childcare hours which are in addition to/outside of their free early education and childcare hours\*, these will be charged as set out below:

**0-2 years**

Attendance Days	Total attendance hrs per week	Free childcare hours per week	Paid additional childcare hours per week	Charge per hr for charged childcare	Total charge per week
1	11	11	0	£ 7.73	0
2	22	11.18	10.82	£ 7.73	83.64
3	33	11.18	21.82	£ 7.73	168.66
4	44	11.18	32.82	£ 7.73	253.70
5	55	11.18	43.82	£ 6.96	304.99

**2-5 years**

Attendance Days	Total attendance hrs per week	Free childcare hours per week	Paid additional childcare hours per week	Charge per hr for charged childcare	Total charge per week
1	11	11	0	£ 7.18	0
2	22	11.18	10.82	£ 7.18	77.69
3	33	11.18	21.82	£ 7.18	156.66
4	44	11.18	32.82	£ 7.18	235.66
5	55	11.18	43.82	£ 6.47	283.36

**Half day Sessions**

**Term Time Option for families eligible for 15hours (Half Day sessions)**

Under the Government scheme, parents/carers are entitled to an annual free early education and childcare entitlement of 15 hrs\* per week over 38 weeks per annum, which equates to 570 hours per year.

The setting operates Monday-Friday, half sessions 7:30 am – 1:00 pm (5.5 hours) or 1:00 pm – 6:30 pm (5.5hours).

Where parents/carers choose to purchase childcare hours which are in addition to/outside of their free early education and childcare hours\*, these will be charged for at an additional rate of £ 15.00 p/h on the funded days.

**Term Time Option for families eligible for 30hours (Half-day session)**

Under the Government scheme parents/carers are entitled to an annual free early education and childcare entitlement of 30 hrs\* per week over 38 weeks per annum, which equates to 1140 hours per year.

The setting operates Monday-Friday, half sessions 7:30 am – 1:00 pm (5.5 hours) or 1:00 pm – 6:30 pm (5.5hours).

The sessions offered during term-time only (38 weeks per annum) and therefore offer the annual free early education and childcare entitlement as 30 hours per week over 38 weeks per annum.

The setting offers places for children from 3 months old until the child reaches statutory school age.

Where parents/carers choose to purchase childcare hours which are in addition to/outside of their free early education and childcare hours\*, these will be charged for at an additional rate of £ 15.00 p/h on the funded days.

**All Year-Round Option for families eligible for 15 hours (Half-day session)**

**All year round are childcare sessions are offered for more than 38weeks of the year.**

Under the Government scheme, parents/carers are entitled to an annual free early education and childcare entitlement of 11.18 hrs\* per week over 51 weeks per annum, which equates to 570 hours per year.

The setting operates Monday-Friday, half sessions 7:30 am – 1:00 pm (5.5 hours) or 1:00 pm – 6:30 pm (5.5hours).

Families who want to take up their free early education and childcare hours all year round, with additional hours, can do this and are able to take this up as 11.18 hours per week, subject to availability.

Where parents/carers choose to purchase childcare hours which are in addition to/outside of their free early education and childcare hours\*, these will be charged as set out below:

**0-2 years**

Attendance Days	Total attendance hrs per week	Free childcare hours per week	Paid additional childcare hours per week	Charge per hr for charged childcare	Total charge per week

1	5.50	5.5	0	£ 10.45	0
2	11	11	0	£ 10.45	0
3	16.50	11.18	5.32	£ 10.45	55.59
4	22	11.18	10.82	£ 10.45	113.07
5	27.50	11.18	16.32	£ 9.41	153.57

## 2-5 years

Attendance Days	Total attendance hrs per week	Free childcare hours per week	Paid additional childcare hours per week	Charge per hr for charged childcare	Total charge per week
1	5.30	5.5	0	£ 9.73	0
2	11	11	0	£ 9.73	0
3	16.30	11.18	5.32	£ 9.73	51.78
4	22	11.18	10.82	£ 9.73	105.28
5	27.30	11.18	16.32	£ 8.76	142.91

## All Year-Round Option for families eligible 30 hours (Half days)

All year round are childcare sessions offered for more than 38 weeks of the year.

Under the Government scheme parents/carers are entitled to an annual free early education and childcare entitlement of 22.35 hrs\* per week over 51 weeks per annum, which equates to 1140hrs per year.

The setting operates Monday-Friday half sessions 7:30 am – 1:00 pm (5.5 hours) or 1:00 pm – 6:30 pm (5.5 hours).

Where parents/carers choose to purchase childcare hours which are in addition to/outside of their free early education and childcare hours\*, these will be charged as set out below:

## 0-2 years

Attendance Days	Total attendance hrs per week	Free childcare hours per week	Paid additional childcare hours per week	Charge per hr for the charged childcare	Total charge per week
1	5.50	5.5	0	£ 10.45	0
2	11	11	0	£ 10.45	0
3	16.50	16.50	0	£ 10.45	0
4	22	22	0	£ 10.45	0
5	27.50	22.35	5.15	£ 9.41	48.46

### 2-5 years

Attendance Days	Total attendance hrs per week	Free childcare hours per week	Paid additional childcare hours per week	Charge per hr for charged childcare	Total charge per week
1	5.50	5.5	0	£ 9.73	0
2	11	11	0	£ 9.73	0
3	16.50	16.50	0	£ 9.73	0
4	22	22	0	£ 9.73	0
5	27.50	22.35	5.15	£ 8.76	45.06

### Discount

A 10% discount is applicable for 5 days of the same session booking.

### Meals charges

#### Term Time

- Funded only sessions for 30hours, 9:30 – 15:30 (Term Time) is £ 4.20 per day for Lunch. Parent/carers can opt out by providing a packed lunch.

- Funded only sessions for 15hours (Term Time) can purchase meals at £1.60 per day for Breakfast, £3.50per day for lunch and £2.00per day for Tea. Parents/Carers can opt out by providing a packed lunch and tea, ensuring breakfast is given at home. for PM session Breakfast: £1.60 Meals: £12.20 for funded days only.

### **All Year round**

- For those taking up their 15hours all year round, meals can be purchased at £1.60 per funded day for Breakfast, £3.50per funded day for lunch and £2.00per funded day for Tea. This equates to £12.20per week for funded days only.
- For those taking up their 30hours all year round, meals (breakfast, lunch and tea) are charged at £8.33 per funded day, which equates to £25.00per week for funded days only.

Meals are not compulsory, and a packed lunch and tea can be provided by the parent/carer, whilst breakfast is given at home.

### **Consumables**

We do not charge consumables. Parents/Carers are expected to bring their own nappies, wipes and suncream.